
2 LEG BARRIER
SB-AC-1624 SHOWN.1.
MUST BE ATTACHED TO SURFACE.2.
SEE SHEET 2 FOR ASSEMBLY INSTRUCTIONS.3.
SEE SHEET 4 FOR INSTALLATION INSTRUCTIONS .4.
TYPICAL FOR SB-AC-1618 THRU SB-AC-4832 MODELS.5.

4 LEG BARRIER
SB-AC-1624 SHOWN.1.
CAN BE FREE STANDING (NO ATTACHMENT).2.
SEE SHEET 3 FOR ASSEMBLY INSTRUCTIONS.3.
SEE SHEET 5 FOR INSTALLATION INSTRUCTIONS. 4.
TYPICAL FOR SB-AC-1618 THRU SB-AC-4832 MODELS.5.

ASSEMBLY/ INSTALLATION INSTRUCTIONS, 2 OR 4 LEG BARRIERS

INSTRUCTIONS, ASSEMBLY/  
INSTALLATION- COUGH/ SNEEZE 
SHIELD

DO NOT SCALE DRAWING

A-1260
SHEET 1 OF 5

05/08/2020

BS

BS

UNLESS OTHERWISE SPECIFIED,
ALL DIMENSIONS ARE IN INCHES.

SCALE: 1:8 WEIGHT (lbs): 

REVDWG.  NO.

A
SIZE

TITLE:

APPROVAL DATE

MANUFACTURING COMMENTS:

ENG APPR

MFG APPR

DESIGN

DRAWN

NA

NA

FINISH ID:

MATERIAL:

TOLERANCES:
FRACTIONAL: ±1/8

ANGULAR: ±1°
TWO PLACE DECIMAL: ±.03

THREE PLACE DECIMAL: ±.010
HOLE: ±.005

CLASSIFICATION:

KENDALL HOWARD CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF

KENDALL HOWARD.  ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE

WRITTEN PERMISSION OF KENDALL HOWARD
IS STRICTLY PROHIBITED.

5 4 3 2 1

SURFACE AREA (in²):

05/12/2020

Reference Document

LEGACY Part Number:

A

A

B

C

D

A

B

C

D

12345

THIRD ANGLE 
PROJECTION INTERPRET DIMENSIONS 

AND TOLERANCES PER 
ASME Y14.5-2009

Initial Release FINISH DESCRIPTION:
NA

App
By:Date:By:ECO No: Description:

BSN/A -

New assmbly/ installation instruction 
document.

05/12/2020



 15.870 

 23.500 

1

3

2

6

 10.000 

4 4

2 3

2 LEG ASSEMBLY INSTRUCTIONS
TYPICAL FOR SB-AC-1618 THRU SB-AC-4832.1.
SCREW TORQUE MAXIMUM 10 in-lb.2.
TOOLS REQUIRED:  NO. 2 PHILLIPS SCREWDRIVER.3.

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 NA ACRYLIC PANEL WITH10"X3" CUTOUT 1

2 A-1184 RIGHT BARRIER FOOT - 10 X 21.5 1

3 A-1193 LEFT BARRIER FOOT - 10 X 21.5 1

4 A-1196 BACKER STRIP - 4 HOLE 2

6 hw-ths-002 SCREW, TRUSS HEAD, 10-32 X .500 LG 8

A-1260
SHEET 2 OF 5SCALE: 1:8 WEIGHT (lbs): 

REVDWG.  NO.

A
SIZE

5 4 3 2 1

A

A

B

C

D

A

B

C

D

12345

THIRD ANGLE 
PROJECTION INTERPRET DIMENSIONS 

AND TOLERANCES PER 
ASME Y14.5-2009



 15.870 

 23.500 

6

1

5

4

 14.220 

5
2

3

66

2

4 LEG ASSEMBLY INSTRUCTIONS
TYPICAL FOR SB-AC-1618 THRU SB-AC-4832.1.
SCREW TORQUE MAXIMUM 10 in-lb.2.
TOOLS REQUIRED:  NO. 2 PHILLIPS SCREWDRIVER.3.

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 NA ACRYLIC PANEL WITH10"X3" CUTOUT 1

2 A-1184 RIGHT BARRIER FOOT - 10 X 21.5 1

3 A-1193 LEFT BARRIER FOOT - 10 X 21.5 1

4 A-1186 LEFT BARRIER FOOT - 4 X 21.5 1

5 A-1195 RIGHT BARRIER FOOT - 4 X 21.5 1

6 A-1196 BACKER STRIP - 4 HOLE 2

8 hw-ths-002 SCREW, TRUSS HEAD, 10-32 X .500 LG 8

A-1260
SHEET 3 OF 5SCALE: 1:8 WEIGHT (lbs): 

REVDWG.  NO.

A
SIZE

5 4 3 2 1

A

A

B

C

D

A

B

C

D

12345

THIRD ANGLE 
PROJECTION INTERPRET DIMENSIONS 

AND TOLERANCES PER 
ASME Y14.5-2009



2 LEG BARRIER
SB-AC-1624 SHOWN.1.
VHB TAPE IS SUPPLIED.2.
LOCATE VHB TAPE APPROXIMATELY SHOWN.3.
TYPICAL FOR SB-AC-1618 THRU SB-AC-4832 MODELS.4.

4 LEG BARRIER
SB-AC-1624 SHOWN.1.
VHB TAPE IS SUPPLIED.2.
LOCATE VHB TAPE APPROXIMATELY SHOWN.3.
TYPICAL FOR SB-AC-1618 THRU SB-AC-4832 MODELS.4.

VHB TAPE INSTALLATION INSTRUCTIONS, 2 OR 4 LEG BARRIERS

NOTE:
CLEAN SURFACE(S) THAT ARE BEING MOUNTED TO AND LEGS WITH1.

SOLVENT AND WIPE DRY.
REMOVE LINER FROM ONE SIDE OF THE VHB TAPE AND FIRMLY PRESS2.

IN PLACE, APPROXIMATELY AS SHOWN.  REPEAT FOR OTHER LOCATIONS.
SHOWN.

REMOVE VHB TAPE LINER FROM ATTACHED TAPE.  LOCATE SHIELD3.
AND FIRMLY PRESS IN PLACE.

VHB TAPE VHB TAPE

A-1260
SHEET 4 OF 5SCALE: 1:8 WEIGHT (lbs): 

REVDWG.  NO.

A
SIZE

5 4 3 2 1

A

A

B

C

D

A

B

C

D

12345

THIRD ANGLE 
PROJECTION INTERPRET DIMENSIONS 

AND TOLERANCES PER 
ASME Y14.5-2009



HARDWARE
HARDWARE

HARDWARE INSTALLATION INSTRUCTIONS, 2 OR 4 LEG BARRIERS

2 LEG BARRIER
HARDWARE IS NOT SUPPLIED.1.
SHOWN IS MINIMUM REQUIRED HARDWARE FOR2.

MOUNTING.
FOR SURFACES THINNER THAN 1.00" USE3.

#10 OR #8 X 1.25"LONG SCREW WITH FLAT WASHER
AND NUT. DRILL 7/32" HOLE.

FOR SURFACES THICKER THAN 1.00"" USE #8 WOOD4.
SCREW OR #6 SHEET ROCK SCREW, 1.00" LONG

TYPICAL FOR SB-AC-1618 THRU SB-AC-4832 MODELS5.

4 LEG BARRIER
HARDWARE IS NOT SUPPLIED.1.
SHOWN IS MINIMUM REQUIRED HARDWARE FOR2.

MOUNTING.
FOR SURFACES THINNER THAN 1.00" USE3.

#10 OR #8 X 1.25" LONG SCREW WITH FLAT WASHER
AND NUT. DRILL 7/32" HOLE.

FOR SURFACES THICKER THAN 1.00" USE #8 WOOD4.
SCREW OR #8 SHEET ROCK SCREW, 1.00" LONG

TYPICAL FOR SB-AC-1618 THRU SB-AC-4832 MODELS5.

A-1260
SHEET 5 OF 5SCALE: 1:8 WEIGHT (lbs): 

REVDWG.  NO.

A
SIZE

5 4 3 2 1

A

A

B

C

D

A

B

C

D

12345

THIRD ANGLE 
PROJECTION INTERPRET DIMENSIONS 

AND TOLERANCES PER 
ASME Y14.5-2009


	Sheet1
	Drawing View11
	Drawing View12

	Sheet2
	Drawing View13
	Drawing View14
	Drawing View15

	Sheet3
	Drawing View16
	Drawing View17
	Drawing View18

	Sheet4
	Drawing View20
	Drawing View22

	Sheet5
	Drawing View24
	Drawing View26


